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1)

Calculate the correct amount.

a) 32 km2 97845 m2 45 dm2 + 328347 m2 12 dm2 + 13 km2 891851 m2 97 dm2 +
41 km2 590977 m2 33 dm2

b) 71 km2 653214 m2 64 dm2 - + 86 km2 546701 m2 9 dm2 + 600803 m2 80 dm2

c) 78 km2 650632 m2 - 13 km2 718089 m2 + 10 km2 975405 m2 - 49 km2 668963 m2

d) 62 km2 577249 m2 78 dm2 - 9 km2 995777 m2 35 dm2 + 1 km2 531171 m2 76
dm2 + 7223129382 dm2

e) 1 km2 239600 m2 68 dm2 + 59 km2 217588 m2 59 dm2 + 74 km2 823233 m2 84
dm2 - 995961 m2 35 dm2

f) 61 km2 851223 m2 44 dm2 63 cm2 + 53 km2 4458 m2 63 dm2 64 cm2 + 14 km2

428175 m2 4 dm2 56 cm2 - 2315 m2 26 dm2 64 cm2

g) 16 km2 127212 m2 29 dm2 + 34 km2 324411 m2 69 dm2 + 59 km2 194234 m2 99
dm2 + 28 km2 427662 m2 24 dm2

h) 9 km2 172314 m2 + 12 km2 238766 m2 + 21649466 m2 + 7 km2 616706 m2

i) 88 km2 281050 m2 48 dm2 89 cm2 - -661651932 cm2 - -

j) 32 km2 850587 m2 + 23 km2 726837 m2 + 37 km2 750150 m2 + 2 km2 935195
m2

2)

Calculate the correct amount.

a) 5 Euros 28 Cents - 2 Euros 69 Cents + 87 Euros 1 Cent
b) 55 Euros 34 Cents + 42 Euros 67 Cents - 72 Euros 87 Cents
c) 33 Euros 46 Cents + 48 Euros 13 Cents + 14 Euros 86 Cents
d) 16 Euros 44 Cents - 4 Euros 82 Cents + 5 Euros 82 Cents
e) 96 Euros 9 Cents - 15 Euros 96 Cents + 12 Euros 27 Cents
f) 34 Euros 33 Cents - 28 Euros 68 Cents + 12 Euros 32 Cents
g) 41 Euros 90 Cents + 36 Euros 7 Cents + 87 Cents
h) 79 Euros 74 Cents - 47 Euros 78 Cents - 13 Euros 50 Cents
i) 19 Euros 20 Cents + 69 Euros 2 Cents - 39 Euros 12 Cents
j) 43 Euros 69 Cents - 39 Euros 95 Cents - 78 Cents
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3)

Calculate the correct amount.

a) 16 dollars 86 cents + 14 dollars 5 cents + 1 dollar 91 cents
b) 41 dollars 25 cents + 4855 cents + 8 dollars 63 cents
c) 47 dollars 55 cents + 12 dollars 52 cents + 2 dollars 75 cents
d) 33 dollars 83 cents + 9 dollars 54 cents + 40 dollars 65 cents
e) 11 dollars 70 cents + 29 dollars 67 cents + 2021 cents
f) 45 dollars 59 cents + 31 dollars 75 cents + 35 cents
g) 37 dollars 4 cents + 48 dollars 88 cents + 849 cents
h) 46 dollars 29 cents + 16 dollars 88 cents + 212 cents
i) 22 dollars 68 cents + 75 dollars 50 cents + 66 cents
j) 37 dollars 75 cents + 27 dollars 42 cents + 26 dollars 34 cents

4)

Calculate the correct amount.

a) 22 kg 197 g + 21 kg 374 g b) 29 kg 826 g + 50 kg 825 g
c) 5 kg 847 g + 52 kg 642 g d) 52 t 657 kg + 25410 kg
e) 52 kg 198 g + 14583 g f) 76 t 790 kg + 2 t 305 kg
g) 1 kg 666 g + 72 kg 280 g h) 54 t 467 kg + 21 t 205 kg
i) 86 kg 391 g + 10 kg 381 g j) 35 kg 702 g + 40 kg 211 g

Good Luck!

www.dw-math.com Page 2 smp-7543-1/YMFH


